AN 6 A EERRR T AR T R R Rk RisEs—EER (B1) e i L s
WETHELZAS
G645 H3H (&) KRexa—FR 24120714 BT A R —V e
vt T s B N Rl b e By — R 122010
fiH 1z 243 3 AT 5{7. 63 [ 8
24£100m B B @ 11,73 Hig &% (2 12.10 | OH ek @ 12,15 MR $55 () 12.34 A (2 12.36 | Ll FFA (@ 12.42 | A BEE @ 12.46 | PN NKEH () 12.68
T (0.0) T (0.0) i (0.0) i (0.0) BEFE (0.0) A (-0.7) [ ¥EHEH (-0.7) BEFE (-0.7)
34£100m i 8L (3) 11.71 EiE IKE (3) 12.00 w B (3) 12.04 FE WA (3)  12.04 | AfRHE R () 12.05 HAR B (3 12.24 FH KK Q) 12.30 | &H HE 3 12.37
WA (-2.1) i (-2.3) A AL (2.1 | NABBH (-2.3) o e (=2.1) EtR (-1.2) | M@EFAAH (-1.2) LAk (-2.1)
H36200m B EW (3) 24.08 ME () 24.97 | A% AN () 25,19 | JNEF BB (3 25.34 | R B () 25.35 | JRM KAk (3 25.66 e it (3) 25.69 | B BN (3 25.70
~ P (=2.4) P (-2.4) | BEHRAEP (-1.5) W (=2.4) v A (=2.4) frES (-1.5) AL (-1.5) fTHES (-2.4)
$£58400m EBF Gk (3) 52.04 | BUE EA () 52.41 [ /A M 3) 53.75 | /NEF ERES (3 53.80 | #Il BEF (3 55.63 | AKE AB{ (3 56.33 | HJE KN (3) 56.38 | #hA Ak (3) 56.81
— kg B R R g fTH BEEA T LAk /NI
J5ES00m EEH AW () 2:08.76| ok A (3 2:00.00] BB (D 2:00.86] WA EA G 2:1L.92] KAE W @) 2712 44| R 154 () 2:12.45| AR BRE @ 2:14.26] B A (@ 2:14. 45
= R B AV I EAH Wt = ER A INARE BAH
SEH1500m FEHE K (3) 4:12.23] IR A (3) 4:14.39( AT WE () 4:19.20( /b ERE (2 4:33.80( BRI fEK (2 4:33.89| SEH FEN (3) 4:35. 71| A BiATHL (3) 4:36.16 ZEM ZB (3) 4:38.39
~ A g EARH INARR fTHES EVilEtan P AR
JE3000m £l B (2) 9:46. 74 AT ATE () 9:47.24 | R R (3) 9:56.38 | AR EHISE (3) 9:57.43| WA AHE () 10:04.01| JIIE S () 10:09.54| FEM OEE () 10:12.08| HEA A (3) 10:13.60
— —E kG B #E HERFAP BEHET FL# I kG A
S30110ml] T S () 16.99 [ FlE H ) 16.03 [ RAIIBE ) 17.23 | 1A BEF (3) 18.58 J- 20 (3 20011 | /R MR (2 2028
a FEH (-1.0) S (-1.0) v (-1.0) LA (-1.0) AV I (-1.0) ER A (-1.0)
BRI 44.85 ... WA 45.45 | ] S O - (I 46. 77 ... BT T T T N =V 47.40 | EEEAT AT 47 | AR AT.T6
W m3) N FHH(3) wBEE ) ma e Q) LK (3) T B3 (3) SRR ) A THE(3)
$E3E4X100mR | AfRE JREF (3) NEF RS (3) T B ) I GEA S 3) B BE (3) AR FER (3) = EE (@ Fie W ()
TF S ® E AR ) FEH &K ©) R OEK G L HE (@ IR S () Al () FE SHKER  (3)
B AE () A 3) £ IR ) IR KAk (3) EiE KE () Sl BEE G [ NI G)) Vg L (2)
S35 7 B A EFE () ImT3 X (3) 1m60 RE¥F —# (3 1mb5 £ pliE () Im4b MmN (3) Imd5 | NRIAR KM (3)  1m4b = A () Imd0 ST fLE B (3)  Im40
— VR AL BE At A AR v AR g LAk
S5 Bk R ZELE (3 6m30 Wil #EAE (3)  5m98 HWH fhpk (3 5m88 HEH A— ()  5m80 &I VW (2 5m63 M A (3 5m57 VOl fE0 (2 5mb5 HE EA (3 5mAT
” Y= (+2.7) Y= (+2.3) BEFH (+3.1) v e, (+2. 6) THH (+3.5) EAH (+2.6) | \ARHH (+4.9) AR (+2.6)
eI PR HiE (2 10ml3 B F (3 9m92 JERE B2 (3)  9m62 s ot (@ 9ml7 @H EAF (3 9m07 b BN () 8m99 Fitk AFE (3)  8m67 HAKk HE (3 8m48
(5. 000kg) EtRE N EtR A BE HERAP uE BAH
F=7" V338 100m ma e (3) 12.27 Wi AR (3) 12.56 A Fl (2 12,60 A HEE (2 12.66 | gHEEBT —HE  (3) 12.83 FPOE HEZE (3)  12.88 A ZE 3) 12,91 EE S () 12.94
— THEP (-1.2) Tt (-1.2) B (-1.2) AT (-1.9) AR (-1.2) | BEHEH (-1.9) VR AL (-1.2) | mtsaarp (-1.2)
b7 vati@isoon | DU MANU () 4:48.02| OKEF M (3) 4:50.95| AJE BRK (3) 4:55.00| EHEF AL (3) 4:55.77| B BREK (3) 4:58. 11| MR A (2 4:58.56| /MK B (2 5:01.28[ M SR (2) 5:02.60
= Wt /hEE Fofi o g HifJE EtR e THH
F—7° 3 A Fakd BESF (20 5m05 | #EEE 2 U A (3)  5m03 Ve % (2)  4m82 g WEC (@) 4mdl MR ik 3)  4m32 AN A (@ 4m30 Bl KT (3)  3m80 WS (2 3m79
B —Ef (+2.6) LAk (+2.3) EARH (+2.8) THEP (+3.7) BAH (+3.5) =L (+3.0) Lk (+2.8) R (+2.9)
1-7" st | AR ZB (3) 5m74 Z SR (3) 5mb6
(5. 000kg) v e i e
H@110mH: 5 0. 914m  AVF-1" V9. 14m
FHE My BB K v g R R FE W
KRG Rehk
3 H
[ L RIR(CO) | IR (%) JEE (m) JELT)
9:00 i 22.0 ¢ 41 1.5 (210
10:00 22,7 37 1.0 i
B ii 23,6 2.0
23.4 2.2




